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Maximum Marks: 60

Instructions:
1. The question paper comprises of two sections.

2. Section I and I must be attempted in same answer sheet.
3. Make suitable assumptions and draw neat figures wherever required.
4. Use of scientific calculator is allowed.
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SECTION - [
Choose the correct answer:
Find the lim,_q %7
a) 1 b) 0 c)
The function " sinx " is an
a) 0dd function b) Even function c)
The value of % (x + x?)
a) 1 b) 1+4+2x c)
The value of % (logx) is given by
a) = b) x ]
x
e ) S
i
a) True b)
What is the value of dfx— cosecx ?
a) —cotx b) —cosecxcotx c)
Find the value of fxz_iazdx
: x=a
a) -log|=2| +c b)
5 3 x+a
) s-log[=2| +c d)
What is the value of [ kdx?
a) kg +c b) g +c )
What is the value of f%dx ?
a) 3logx+c b) logx+c )
fcoshxdx = sinhx +c
a) True b)
Answer the following: (Any Four)
- secx+tanx
Evaluate: llmx_.% (m)
3 x3-64
Evaluate: lim,,; —
o dy o (x42)(x+1)
Find == ify = Gt

Find % for the function ax? + by? + 2hxy = 0

Find the volume of the solid formed when the area bounded by the curve y? = 4x between
x = 1 and x = 2 rotated about x-axis.

Evaluate: ff{i +/x + (x + 1)*}dx

SECTION - 11
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d) kx+c
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Choose the correct answer: {10}
The power of the highest derivative term in the differential Equation is

a) Order of differential equation” b) Degree of Differential Equation

c) Differential equation d) Equation

Find the integrating factor of % 2 iy = x.

2 e b) 2 9 x d) 0
x
% + P(y)x = Q(y) is a Linear differential equation.
a) True b) False
5 d3y dzy dy i
Find the orderofm+w+a+y =0
a) 1 b) 2 d 3 d) o

If z = cosB + isin 8 the ﬁndzin?

a) cosf —isinf b) cosnf —isinnd c) cosf +isiné d) cosné +isinnf
If z; = cos 36 + i sin36 and z, = cos 68 + i sin 66 then find z,2,? ’
a) cos360 —isin36 b) —cos36 +isin360

c) cos66 — isin66 d) cos 66 + isin 66

Complex number z = a + ib if b= 0 then the complex number s ............

a) Imaginary Number b) Purely real number

c) Conjugate Number d) None of these
The conjugate of the complex number % is
-1 18, -1, 18,
A 375 b) 5+5
1 . 8 1048
c) E E L d) -1—3' - '1—3 L
In mode formula, mode z = [ + ﬂ) h. What does f, represents?
2fi—fo—fz

a) The frequency of the class preceding the modal class.

b) The frequency of the modal class.

c) The frequency of the class succeeding the modal class.

d) None of these.

What is median?

a) The average Number b) The middle number

c) The most frequent number d) None of these

Answer the following: (Any Four) [20]

Find integrating factor of 2 cos x (%) + 4y sinx = sin2x

Solve:%:xy+y+x+1

Find the modulus and argument of 1‘;%3;/255
Express % + % in a + ib form, Also find the conjugate of it.
Find the mean of following frequency distribution by using assumed mean method:
i 300- 350- 400- 450~ 500- 550- 600- 650-
350 400 450 500 550 600 650 700
Frequency 24 40 33 28 30 22 16 7
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(vi} The Median of following frequency distribution is 52.2. Find the missing frequencies

fiand f5.

Class Frequency
0-10 2
10-20 fi
20-30 9
30-40 12
40-50 17
50-60 f2
60-70 j i
70-80 9
80-90 7
90-100 -+
Total 100
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